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Time: 2.30 Hrs

NOTE: 1.Q1 is compulsory
2. Q2 to Q5 having internal options
3. Figures to the right indicate full marks.
4. State your assumptions clearly

QI1.A State whether the following statements are tru& or false (anx&)

i. Beta measures volatility or risk ) 5

ii. If Jensen’s Alpha is positive , it reflects that the Mutua! “ﬁmﬂ has eéc@deathc m“qnﬂ
outperformed the Market portfolio and vice versa

ii. Transaction exposure in Exchange rate rwkimpacts the fumrecash ﬂows o“faﬁrm

iv. Exercise price is a pnce at which the opﬁ@n Buyer 18 ehgih&e tabug or-seft t}!s:httdgzﬂxh\g asset

V. APT is an asset pricing model based: bn‘fhe ideéa that an asset’s rétumbamcf bc prgdic«té@usmg the

'\

-

relationship between that asset ad many common risk &qtbrs G
vi. The third line of Defense includes’ Operanonal Managemeﬁw : ' ;
vii. An end user of the project’s outceme is:one of theinternal stqﬂ?holder tcmhc orgamg)atlon
viii. At the money Option leads tenegative cash flows to the holder'if it were e‘xercased immediately
ix. Enterprise Risk Managemeﬂihas} one mmensmna! &Bseﬁsment (pqténﬁal im oty
X. Risk Measurement is tha w}lectlve résponsnbility of d‘lffereht mopk in fhe rghmzatnon

Loy,

Q.1B) Match the following (Any 7) G 33 Ty (07)
Column A > 20 B : Column B
i | Transaction Exposuné deranslﬁtmn a- Caﬂ am:l Put S
Exposure W O G " ‘ A %
ii | Arbitrage o L b Futures ey Q ;
iii_ |Options = =~ % ¢ Risk RQh.lm theﬁry
iv | Standardized - exchan,g{: _dr | Exchange of cash flows between two parties
contracts '_ . Mgl g
v Fomqr&s e f Highcr risk higher returns
vi | Swaps _{'f  ['Currency Risk
vii .ModeortﬁJho Theory | g |-LessRisky project
viii] Risk :etmp_tmde ﬁ' ' "1 'h | Profit from price difference in two markets
ix |Beta<l SIS i .| Credit Risk
Ly Defaui_t_ Rl_sk Y o 14 “No standardized contract
2 ERSIENE Tk [Risk
Q 2) A3 Dcﬁne the term Rtsk" Explam the Risk Management Process (08)
: ‘B) Expﬁam Arbm'age ;heory and Techmqucs 07)
OR

C) Calcufafe ﬂw expectcd rcturns and Standard deviation of Stock A and Stock B (08)

The:foll g is i:hc mformation pfstock A and Stock B under the possible states of nature

Sta%ééTNatm‘e

641 1BAACBDBI111F71B9C4DB43EFD41CD

" ['Probability Return ‘ A’ Return ‘ B’
e " OO0 5% 0%
~ 2 Y 19,30 10% 8%
3 P :'-": -1.0.50 15% 18%
J & = 4°0.10 20% 26%
D} Wme nﬁte on. RIS]( Register (07)
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Q.3) A) Explain Risk and the three lines of Defense

B) Explain the challenges of Risk assurance in an organization o

OR

C) Calculate Beta for each of the following two securities fmtrtj:he gﬂ@n h}ﬁ‘)ﬂi@lm 15)

Year A.Ltd (%) B.Ltd (%)
| 10 14
2 6 2
3 13 19
+ -4 -12
5 13 11
6 14 ‘ 19
i 4 - IR
8 18 205 ;
9 24 28
10 22 : 1‘6 B
Q.4) A) What are the good pmctlceptmcmbs fo.r nsk assurance? L ;’5' S (08) '
B) Define Stakeholder and exhlﬁlmthe types of pm_;cct stakehafders (07)
C) Explain the powers, fugctinns and duues of IRDA Rl Ry (08)
D) What is Actuaries? Eﬁp&m the mie, dutnes and obﬁgatlons eﬁ Acfuaqes (07)
Q.5) A) Suppose an msurer esttmates tha.t an msm‘amce contract exposmehas the followmg loss
distribution: & < ] o 2 (08)
Loss (in Rs.) Probablht_v )
20000805 T OIF D e &5
8,00,000 IS S IS ST I
Y Ny _.‘ ..l‘ = »“L : . ‘ :‘ - .- g ‘ 0 050 : “ \
: ‘ SEA VS L WS e
Assuxﬁeiha:t adwmtgsuaafme éxpetises wtushare pmd immedlately, equal 20% of the expected claim cost. J.;

Further assume ‘that this type of pohey féqulms a ptoi"t loading equal to 11% of the expected claim cost.
_Cﬂlculﬁxe the fwrpTeilmﬂm Vet

3_-;2:?:B)Whatls Remswm*ﬁtafe;ts\types‘ i 07)

: '--0' SEF S OR
: _Q. 5) Wrtte Bhort notes on (Any ’three} (15)

. a} RlSkEXpQSﬂrﬁAnab'sgS

5 & B) Derl\’?;t}!(es ;?:llh.‘hb' S s <

s ‘~c) Ris-k“‘Governa@cc \

.e)ﬂ EmerprinrskM‘anagement Matrix

=
S RkkkkkkkRkE
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Paper / Subject Code: 46013 / Marketing: Customer Relationship Management

(2 %2 Hours) Marks : 75

NOTE- i) All the questions are compulsory subject to internal choice.
ii) Figures to the right indicate full marks. :

Q.1 A) Multiple choice questions: (Answer any 8) (8)
i) Long term CRM involves operational cost.

a) high b) low ¢) medium  d) none

i) means transferring the call to the available agent to reduce the waiting time of the
customers.

a) call routing  b) call scripting  ¢) personalization ~ d) channel optimization

iii) is an act of selling additional products to customers.
a) cross-selling b) upselling c¢)botha &b d) none
iv) is a method of recommending products or services to customers on websites.
a) clickstream analysis b) online analytical process c) collaborative filtering
d)Traffic analysis
v) A service level agreement(SLA) is a tool for building relationship with high value
customers. :
a) formal b) informal  ¢) shared d) none
vi) is the heart of selling process.

a) customer delight b) customer satisfaction c¢) customer retention  d) customer loyalty

vii) is also known as opportunity management.
a) customer relationship management b) lead management
¢) contact management d) knowledge management

viii) Privacy laws protect the interest of
a) customers b) employees ¢) organizations d) all

ix) relationship exists when a customer has tried a product for the first time.
a) acquaintance b) friend ¢) partner d) stranger

X) are calculations or summaries of historical information that often compares trends
over times.
a) business view data b) warehouse data ¢) transaction data d) reference data

Q.1. B) State whether the given statements are true or false:- (Answer any 7) W)

i) Win back is the first stage in the CRM strategy cycle.

ii)Cyber agents are viable means of providing basic customer support.

iii) Event based marketing is also known as trigger marketing.

iv)Calls made by customers to the call centres is a part of inbound communication.

75398 Page 1 of 2
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Paper / Subject Code: 46013 / Marketing: Customer Relationship Management

v) Service delivery GAP 4 is a communication gap.

vi) Customer value management(CVM) is also known as customer value added approach.

vii) CRM strategy focuses only on creation of valuable customers.
viii) E-CRM is derived from e-commerce.

ix) Cloud computing software is efficient means for collecting customer data.
x) CRM maintains relationship with customers by frequent contacts so as to obtain their

maximum data.

Q.2

a) Explain SLA and main elements of good SLA? _

b) Explain the challenges and barriers in implementing CRM.
OR

¢) Write a note on Service level Agreement

d) Define CRM and explain its components in detail

Q.3.
a) What is Data Management? Discuss different types of Data?
b) Discuss Customer Profitability and value Modelling
~OR
¢) What are the quality issues identified in the data.
d) Explain customer retention and methods to improve customer retention?

Q4.
a) Write in detail the steps for implementing a CRM program
b) What are the complexities of CRM strategy
OR
¢) Explain CRM Strategy Cycle.
d) Explain the concept of Knowledge Management

Q.5. a) Explain the features of E-CRM
b) Explain the software App for Customer Service.
OR

Q.5. ¢) Write Short notes on the following (Answer Any 3)
i) E-mail response system j
ii) Social Networking and CRM
iii) Levels of E-CRM
iv) Ethical Issues in CRM
v) Recent trends in CRM

75398 Page 2 of 2
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Duration: 2.30 Hours __,.“' Maimmﬂ&
NB: 1) All questions are compulsory subject to internal choice
2) Figures to the right indicate full marks. S
3) Use of Simple Calculator is allowed. &
Q.1. . ::””\ e
(A) Match the following: (Any 8): b o8
Column “A” ENEETS % Gblﬁmn “B"’
1. | Interest on Higher Educational loan | &} Hpnw&rd Slopmg_'_ 5K EFREIA,
2. | Housing Loan Installment Fbe, ‘pbgq}wwa Slopibc - o~ S s
3. | Normal Yield Curve o Fed imuqmmsw\ AR :
4. | Inverted Yield Curve o I'd | Deduction u/s 80E
5. | Medical Insurance Premium - = { & ‘Deddétlon u/s SbC
6. | Earning Capacity of an Inﬁ;&uﬂ <1t | Human Life Vatue e
7. | Objectivity and Compete_ng \ﬁg Principle GfWeﬁthGl‘B@itlﬁn ; 5
8. | Pay Yourself First .+ . - | -h. Principleof Insurance - .
9. | Principle of Indemnity< fq -~ &P R@LKW*T&@J Llah‘l{txes
10. | Net Worth ol ‘%‘Q?“ SR _'1}'1 TXJ@Q? Bﬂﬁq&%ﬁr Wealtﬁ Managers
Q.1. A e A PR
(B) State whether the foﬂnwihg‘snuméma‘(f'&ue eanlse (;u y '73 (07)
1) Business loss cannot be set off against sﬂérwmzq_me :
2) Yield refers t¢-the anoual remmﬁm‘an Tnvestment. * ’
3) Humias Life’ \(aluwfoncept\dexls mﬁhumﬁmcamtal >
4) CAGRetum js ﬁzye mﬂ@émgpmam
5) Insureristhe Qﬂwvhnm@‘ea&kesﬂw gér,ponsxau;mof risks.
6) ‘I@lﬁh msﬁranee wm@maMMam one year period.
7y Inflation'ra ) : |
8)< “MIS dcs}agulag mcomeﬁqihe‘imgstors»
»\, 9) = Igong te:gm s:;pitad‘]emxmm Bet%ei-oﬁ'mmst short term capital gain.
'jl" 10)-1 Ikdﬁqtlmf for. ﬁ@nauon to a chamtab]etmm can be claimed u/s 80G.
S ’g« CIR .
“Qiz-v A g
m; Wehat 1s-vgemhmmgémw Explmmts scope in brief. (08)
@h&t atéﬂ’i%: \rea’srons 1’01' chmges in interest rates? * 07)
: '\ % OR
« B Ml' fﬁlahmﬁ fumishes Etz félleng_etmls for the year ended 31% March, 2019: (15)
o . o : i ARy
2 g RS RS DS o e Particulars Amount in Rs.
B ol s S s‘lm*:rem{;apit‘ai‘\cwm 2,40,000
S ~ | Income from ﬁggmessbg Electronics 4,00,000
B ao il *‘l;ess from Speculative business (-)2,40,000
4 s- ng Terti capital Gain on Sale of Land 1,20,000
W IE (erm‘Capliailoss on Sale of Shares (-) 2,049,000
b; = {Ineome:faom Salary 8,00,000
v Loésc&pmﬁguse Property A (-) 2,60,000
d ° Page 1 of 3
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Q3.
(A)
(B)

P)

.”:,\;«-; e s of Rs..7,00,000 in financial year 1997-98 and Rs. 2,50,000 in the
: ﬁn@ﬁclal—yeﬁr 27006:13?\@ the same.

o~ _. 4 '\ “?

o on\sqte\ﬁ‘msactmn ‘He purchased a new Residential house on 1% February, 2019 for Rs. -

hee 'in 1\;\

_property on 1% “Becember 2018 for Rs. 95,00,000. Brokerage of Rs. 85,000 was incurred

Income from owning and maintaining of Race horses

Income From House Property B

Income from House Property C

Following are the carry forward losses - : '

(1) Carry forward loss from business of electronics: Rs Tﬁ,ﬁﬂﬁ‘ \pér&mmgw the y@a;
2017-18. Y

(2) Losses from the activity of owning and mamtammg Eace hdrsesﬁeﬁmm‘g&o 3
assessment year 2016-17 : Rs. 3,00,000 & o w P A et

Compute Gross Total Income of Mr. Mohanji for ;hehsseﬂsmen’t Year 2(11 -2& AIBO e

state the eligible carry forward losses for the Aasessinant Yeaf’ﬁ,ﬂl‘)a%ﬂ

" i~

L

Explain the Primary and Secondary funi:tiOns af htsm'ance in bﬂ&f 8

“Goal based Wealth Management 1& bqtter" }usstify‘the Statemqnt e N 07)
Following is the Balance Sheet Qf' Kabig&galg andthsas on 313‘ Ma'rsh, 2019: < (08) <
‘Rs. - >

Liabilities S Assgts Y T Ry @

.
.‘,‘ i \—‘ TANTE } o

Equity Share Capital‘?__\":._‘“ of @5 00, 000 Pla‘nﬁ&« Mac;hmery \20,1)0 000

General Reserve :-*j; Vs A,AS,GQ}GOQ?’_; Blnldiﬁg« """ r:*‘.,r“_gjz 10 00,000
o L el o R e SO N -

Share Premlurﬂ. ‘ 2,50,0{}0 Stosk ;-;'E‘ 8,50,000

9% Debenum & 1006,000-| Sundry, qum:r& 10,29,000

1% Pr@&mm"é sharecapltal 3 s’Qg,eaﬁ Ca?;lg &‘Bank bﬁ[ance 3,%5,000
Sundry ﬁ‘reattﬁrs

2;’56,90_9\‘? Shogt Tel:m ﬁ‘lvestments 2,78,000
2»@5 008 Praﬁt %d Loss Account | 1,84,000

50,0055 S‘hares Tssue Expenses 8,000
g 1 45‘900 P-re'hmmary Expenses 26,000
57.,0@09 57,00,000

; ;

Sﬁahnﬁﬁh Mﬂased g\tﬂ:use property for Rs. 20,00,000 on 1 September, 1995. He (07)

'.'n'\\'\

‘fatr tyaﬁcet 'i'hlue of the property on 01-04-2001 was Rs. 25,50,000. He sold the

. Py
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Q.4.
A)
(B)

P)

Q

Q.5
(A)
(B)

Q.5.

The Cost inflation index for various years is given: 2001-02 = IOQ“ 0 95-&7
19 =272 and 2018-19 = 280. AR
Compute the net capital gains of Mr. Shahrukh.

What is Estate Planning? Explain its Objective. &z
What are different types of Will? 7‘ < -‘
DR & 0
Compute the taxable income and tax liability of Mx Nasee
for the Assessment Year 2019-20. e BT
Particulars o MR
Income from Business g
Interest on Post Office Sav jﬁfﬂiﬁkhﬁ:
Income from house Property» 3
Income from salary A
Winning from [ottenes‘» L
Interest on FD with Banks =~
Interest on NatlonagS;GmgCemﬁcm
Contribution to W@‘me

(07)
What are the ; m}g}:;ﬁ RcurqmghtE\vﬁlmiuﬁ aﬁd Planmng"a & (08)
Explam the prmc vles of \W,@nkﬂx Creaﬁon m“bﬁef Ty 07)
Write sﬁqh Notw P O (15)

(any
i) Post oi‘ﬁcam?mw ﬁlv&shn@nJ‘Schsme (M[S}
h) I?npomance@fY{eﬁr Curve &
: mﬂitlek a‘f{ﬁmnsured

T Sdedddeddedk g dedede ek ke
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- Paper / Subject Code: 46007 / Marketing: E-Commerce & Digital Marketing

(2 ¥ Hours) Marks : 75 Ao
NB: (1) All Questions are Compulsory. B N Y
(2) Figures to the right indicates full marks

Q1) A) State whether the following statements are TRUE or FALSE (any 8 ). - (08)
1. Digital cash is suitable for small transactions. P ES DS
2. There is no grace period for debit card. ol g e
3. Yahoo.com was launched after the birth of Google.com S i 0.
4. Search Engine Marketing is a short term approach.
5. E-commerce includes business to business transaction Dnly
6. Podcasts lacks interactivity. i
7. Trojan horse is the unauthorized use of services and harassmcnt by emmt
8. Campaign Marketing requires very less money for effective execution. .» & >
9. A credit card is a credit system in retail trmsacﬁons which has a.pre set s;’)q'ﬂdmg lnmt bascd
w) on the user’s credit limit.
10. E communication is the commumcatien usmg electronic medla '

Q1) B) Select the most appropriate alternatwe answer, (Any 7) el (1)
i is trading in. pzoducts or services using computen' netw‘orks
a) E Commerce b) Motivating ¢) cooperation.
2 The market enablethe supphers to directly mtcract thh buyerp that by eliminating
distributors. R

a) B2B b) C2C_~_- : c) A2B. ;

3) In India the . of e-commerce is due to cash on dehvery payment option.
a) Failure b)_ Success €) Tminmg :
4) E-commerce enhanccsthe promotlon of psoducts and serwces to direct information and
interactive contact L
a) customers b) students ¢) chlldren
5) E-commerce in education has led to.
U a) Personahzed banking b): modification c) Globahzatlon

6) refers to the management of a network of interconnected business involved in
the ultlmate provision of product and service packages required by the end customers.

a) Supply Chain’ MaﬂﬁgEment b) eustomer relationship management ¢) personal
management - -

Velroags o Salsois knovm as ‘click and mertar business model.
3 ) Bﬂqk and mortar by brick and click c) Pure online.
8) - allows card holding customers to perform routine banking transactions without
: mteractm g w1th the human teller. :
s RTGS by IMPS ¢)ATM.
9) By 1san approach that recognizes that customers are the core of business
and that the eompany success-depends effectively.
P a) personal managmtrent b) customer relationship management c) Web design.

10)- : - is a'financial Exchange that takes place on line between buyers and sellers.

a) E —paymcnt b) Cyber crimes ¢) Fraud.

75418 A Page 1 of 2
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Paper / Subject Code: 46007 / Marketing: E-Commeree & Digital Marketing

Q2 a) What do you mean by E-commerce? Explain its features.
b) Explain how social cultural factors affect e business.

Q3 a) Discuss the steps in launching e-business. R Gﬂ}’ '
b) Explain the advantages and limitations of entevpt‘-'tSe resqurec plmmﬁxg E’T}
OR 2 2

¢) Explain the significance of a e business i in ’wﬂay S Qompat“iuve;\\forla_x
d) Justify the superiority of bncks and chd?\modet over pm'e“ cmhiie mede[_

Q4 a) Explain the issues relating to privacy @dmduﬁly in E busmqss
b) What do you mean by payment g_ ewa

¢) Write a detailed note on IT AttZGDO
d) Discuss the need for C'Qbmmemé }ﬂWs.

Q5 a) What do you meanl?y dlglta{ maﬂ(@tmg?D}scuss its evo{unm

b) Explain the con "i)&ﬁbnhne advbﬂlsemem along W1th 1ts bene‘ﬂ& : (07)
Q5 Write Shor_t__ Notes Any 3). N 1s)
2 Smart Card ; S
3. Myﬂngfsm : VG SIS
4 Beaeﬁfs ﬁfB;BE CommWe

-s;sEMa l‘Ma:kcb?rgg

Page 2 of 2
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;ﬁ “\\. Paper / Subject Code: 46003 / Finance:Investment Analysis & Portfolio Management

Duration : 2.30 Hours Marks : 75

NB: (1) All questions are compulsory having internal option.
(2) Figures to the right indicate marks allotted to each question.
(3) Simple calculator allowed.

1. (A) Match the following columns. (Any 8) (08 Marks)
Group A Group B
1. Treynor’s Measures a) Based on an analysis of the fundamental factors and
technical factor
2. Sharpe’s Measures b) CAPM
3. Active revision Strategy ¢) Standard Deviation
4. Portfolio Evaluation d) Last step in the process of Portfolio Management
5. Jenson’s Measure e) Beta
6. Equity share f) Debt Fund
b/ 7. Preference share g) Risky Capital
8. Bond h) Fixed Dividend
9. PPE i) Unsecured Deposit
10. Public Deposit j) Tax Saving Investment
1. (B) Give True or False: (Any 7) (07 Marks)

1) Examples of solvency ratio include current ratio and quick ratio.

2) Price level and inflation affect the economy of the country.

3) The efficient market hypothesis (RMH) states that the financial markets are
inefficient.

4) Risk is measured by variability in returns.

5) A risky asset is one whose return is certain as a Government Security.

6) The higher the risk of a security, the lower would be the return expected.

7) Portfolio revision involves changing the existing mix of securities.

8) Portfolio evaluation refers to the evaluation of the performance of the portfolio.

U 9) The total return on a portfolio includes only risk free return.
10) Investing in equity share is a tax saving investment.
2. (A) Distinguish among Investment, Speculation and Gambling. (08 Marks)
2. (B) Explain in brief the Investment avenues. (07 Marks)
OR
2. (C) Calculation of Beta of each of the following two companies with the
help of given information. (08 Marks)
Year Rudra Ltd (%) Market return (%)
1 19 20
2 16 17
3 13 14
4 19 20
3 23 24
75906 Page 1 of 4
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Paper / Subject Code: 46003 / Finance:Investment Analysis & Portfolio Management

2. (D) The rate of return of stock M Ltd. and V Ltd. As under :

Particular Boom Normal Recession
Probability 0.30 0.45 0.25
Return on stock M Ltd. (%) 35 55 70
Return of stock V Ltd. (%) 70 55 35

Calculate the expected return and standard deviation of both the stock.

(07 Marks)
3. (A) Compare the following portfolios according to Jensen’s measure of portfolio
evaluation and rank them . (08 Marks)
Portfolio Return on portfolio (%) Beta Risk free return
HDFC 15 0.8 7%
Kotak 16 1 , 7 %
ICICI 12 1.5 7%
Market Index 14 L3 7%

3. (B) Calculate Expected return and Standard Deviation. (07 Marks)

Probability Returns (%)
Sam Ltd. Cam Ltd.
0.33 6 9
0.33 30 12
0.34 18 18
OR
3. (C) The Security return and Beta factors of 4 securities are as follows:
Securities Security Return (%) Beta
Modi Ltd. 18 1.6
Gandhi Ltd. 10 0.8
Mehta Ltd. 12 1.2
Sardar Ltd. 15 1.5
75906 Page 2 of 4
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e ™ Paper / Subject Code: 46003 / Finance:Investment Analysis & Portfolio Management

If the risk free rate is 7 %. Calculate Average Market return and Expected returns for each

security under CAPM. (08 Marks)
3. (D) The details of three portfolios are given below.
Portfolio Average Return (%) Beta Standard
Deviation
Padma 18 1.4 0.30
Jharana 12 0.9 0.35
Meenakshi 16 1.1 0.40
Market Index 14 1.0 0.25

Compare these portfolio on performance using Sharpe and Treynor measures.

v Risk Free return is 8 %. (07 Marks)

4. (A) Distinguish between Fundamental Analysis and Technical Analysis.
(08 Marks)
4. (B) What are Charts? Explain the types of charts. (07 Marks)
OR

4. Hero Ltd. has presented its financial information for the year ended 31st March 2019.
Earnings before interest and taxes " 16,00,000
2,00,000 Equity shares of * 10 each *20,00,000

v 10% Debentures 30,00,000
Reserve and surplus ' 10,00,000
Provision for taxation 30%
Proposed Dividend 20%
Market price per share 32

Calculate: (i) EPS (ii) P/E Ratio (iii) Dividend payout ratio (iv) Dividend Yield

(v) Debt Equity Ratio (15 Marks)

5. As Portfolio Management Consultant, you are approached by Mr. Puri, aged 27 with
investible funds of Rs. 50 lakhs. He wants to know from you the following:

(i) What are the investment avenues available to him which will give a suitable return with
maximum return?

(i) What are the various types of risks?

75906 Page 3 of 4
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Paper / Subject Code: 46003 / Finance:Investment Analysis & Portfolio Management

OR

5. Give short notes on: (Any Three)

75906

1) Public Provident Fund
2) Random Walk Theory
3) Debt Fund Investment
4) Bonds

5) Mutual Fund

Page4of 4
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Paper / Subject Code: 46001 / Logistics & Supply Chain Managcgj'ﬂe’p’t’“ ey

s

[Time: 2’4 hours| D 2 '[{Ma‘rk;s:'LS.]

Please check whether you have got the right quesnon paper e &8

Answer all the questions. DETEF T F&oFs
The Marks are assigned on the R H.S. D AT R S VO
Draw Illustrations, diagrams and Schedules wherever necessary s
Use of simple calculator is allowed. :

Q.1 A) Match the right and closely related answer from Column Y with tbe terms g;ven LSS

Column X. (Attempt Any 7 questions) : 4 e A
Column X Column Y i
1) Maritime Logistics : a) Basic activities of Forwarding Loglstlcs
like pick and pack, distribution and
: warehousing.
2) Customer Developer 3 PL % b) Single type of commocf‘ ity camed =
3) Information Flow in SCM 2 | €) credit terms, pa_mlen*t scheduies &scount
3 | information '
4) Standard 3PL ; d) Transport of llquxds and Gases
5) Unit Train e) Cost
6) Air Transport , f) transmitting orders and updating the status
: of delivery
7) Internal Performance Measure - g) 3PL lntegrates With vustomer firm and is
A - | highest level of 3 PL-
8) Pipeline Transport _h) Customer Perception Measurement
9) External Performance Measure i) Highly Expensive mode of transport
10) Financial Flow in SCM 1) Pirate attacks is the key fear
Q.1 B) Choose Correct Alternative. (Attempt Any 8 questions) (8)
1) Following isnot part of Log*tsttcs Performance Cycle (Total Logistics Cycle)
a) Product Life Cycle = ~ . b) Physical Distribution Cycle
c¢) Procurement Cycle d) Manufacturing Support cycle -

2) Commitment of the company 1s viewed as customer service

a) as a performance measure b) as a philosophy
c) as an activity - d) All of the above

3) Inter modal transportation whlch combmes air and Road

a) Fishy Back b) Birdy Back
¢) Land —Bridge d) Piggy Back
- 4) The correct sequence of Warehouse operation cycle is
a) Pick, receive, store and ship b) Pick, store, receive and ship
c) Receive, pick, store and ship d) Receive, store, pick, and ship

- 5) The following is not related to Unitisation.
a) Containerisation b) RO-RO

c) Palletisation d) Water Transport
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6)

a) Planning b) Monitoring DR Y 3
¢) Controlling d) Directing - : eSS
7) The following is not Asset Performance measure of Logistics Performan: A RS 3 S ST
a) Inventory Carrying Cost b) Return on net assets HESASE D F B AV O 2P P
¢) Ordering Cost d) Return on Invqét’g}cnt,.f{{_:‘f; : r.r-"__"f'_‘ CFSS ) 3
8) What does the acronym EDI stand for? RS 4
a) Enterprise Data Information b) Electronic Data Infrastructure
c) Enterprise Data Interchange d) Electronic Data Interchange : :
9)3PLisa approach with comparing to.4 PL.
a) Broader ] b) Wider - - o
¢) narrow d) Both-aand b
10) The cost of insurance and taxes are included in b |
a) Inventory Carrying cost ~ . b) Cost of stock-outs L AN e L
¢) Ordering cost .+ . d)SetupCost AP
Q.2 A. Discuss Total Cost Approach(TCA) of logisﬁcal"cdsting & oompareTCAWIth
Traditional costing. S T AN A (8)
B. Discuss the Internal & External Logistics Information System. @I1S). )
OR LT
C. Explain any 05 functions of Logistics Management. i (5)
D. From the following data, calculate a 3 period weighted moving averages from 4™ Month
to 8 th Month, with weights as 3,2 and 1. The largest weight.is being assigned to most
recent period ‘and‘;;ﬁrrex;l_t_:f)ﬂﬁand}falue. D g y (10)
Period{Monsh )~ &+ 17¢ 3 | 3174 s [ ¢ [ 7 | 8
Demand in Units | 120 .} 130 | 145 | 160 | 170 | 190 | 200
Q.3 A. Define Logistics Infrastrucmre Discuss the advan_tages & limitations of Inland Container v
BREACH). " & S S S TS T S S £3)
B: Discuss principles of Warehouse Layout desi gning (7)
_ oE e iyt R
C. Explain External Performance Techniques in Logistics Performance Measurement
System. Sians (8)
D: Disguss the different stages (phases) of integration in SCM (Supply Chain Management)
‘vt tie elp of dingram: - 5 57 ()

Paper / Subject Code: 46001 / Logistics & Supply Chain Management -

measures track historical logistics systems performance for repomng’tomanagement gty

8.4 A Defire Safety Stoc‘kl-‘.e\:rel; 'Wha:_tafe the factors on which Safety Stock Level depends?

Daily consumption of a raw material in the production process is 600 units. Lead time
- for delivery is 4 Days. Company’s policy is to keep a safety stock equal to four day’s daily
consumption to guard against stock out. Calculate Re-Order Level. (8)

QNG - % 'EXpIain importance 'a‘n‘d;l.ri’rinciples of Transportation. Also discuss Transportation

S Bugehaiiy - ™

OR
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C. Discuss the concept of integrated logistics with respect to Inbound, O.'utboun_d &

Manufacturing Support Logistics. : (8)

D. Discuss RFID & EDI, and also explain their merits and demerits. . . e (7)

Q.5

Q. 5 Case Study — Read folldwing case and attempt the given below ij’liest'io'li_s.

Write short notes on following. (Attempt Any 3 Questions out of 5) ~ - SR
1. 3PL Vs. 4PL G

Logistics and 3Cs

Merits and Demerits of Air Transportation

Global Logistics Trends.

Benefits of Good packaging.

ol

OR

T o YA ¢ Saiiies - N .

Super Robots is a toy manufacturing company which is in the business for the past two decades. The
manufacturing unit is situated in Mumbai, while its sales and marketing are spread over a large
geographical area, especially in the major cities across the country. Over the years, a number of
competitors have sprung in the field. Far from child’s play, the company. found that the toys’ sector
is a tough business. Some of the problems faced by it are: Iy

There is a massive sale during the festival seasons. If the company’s product is delayed, the

valuable market is missed, .

“Fashion™ or “cult” status products influence the market. Any wrong decision in this matter,

means loss of sale and build-up of unwanted inventory.

There are high marketing and promotional costs. If these programs go out, the sales drop
massively 2 ‘ ;

Any misjudge of the market ¢an also mean closing down of the company.
The company has prpb{ém-s.regarding stock holding af its distribution centers. This is mainly due
fo wrong inputs from feedbacks and improper surveys.

The company relies mainly on hired fleet of road transport. The services are not up to the mazk
in terms of delivery schedules, safety of goods from pilferage/theft, and mishandling of product.
Marketing strategies.are far from adequate. They are not effective enough to counter the
strategies adopted by the competitors.

You are called ﬁpo.n by'thét"\tﬁani'gément of Super Robots to head their logistics operations,

- You are required to study and guide the company regarding the following matters.

a) Warehousing at distribution centers and large retailers to cut down inventory costs plus

‘other suggestions in order to reduce inventory carrying costs. (%)

by Advantages of outsourcing in terms of preparing girls’ and boys’ toys, toys in local

> ‘,laqg'uage‘s,:tpys for different age ranges, packaging, effecting savings on damages/

" transport, responding fast to customers’ requests, etc. (5
¢) How to cut down cost-an advertisement campaigns by alternative forms of spreading
awareness? (5)
—
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">k " Paper/Subject Code: 46002 / Corporate Communication & Public Relations

|

(2% Hours ) .. [Total Marks: 75]

Figures to the right indicate full marks

Q.J A) Choose the correct alternative (Any 8) A S (08)
Lo Theword..... ... is short form for “web blog” (blog, skype, email )
2. Communicating with ................... public is known as financial
communication (consumer, financial, government)
3. Majority of corporate crisis arises due to ...................... problems (external,
internal, public)
e SRR is the first step for effective media relations (research,

press materials, third party experts)

The identity of defendants are unknown at the time of filing of petitions as per

.............. (RTI, Defamation, John Doe Orders)

|l T SRR refers fo collective judgement of a corporation (image, brand,
reputation) Gl oo Sl -

N theory uses-the economic-metaphor of cost and benefit to predict
behavior (social:_ﬁ}gcﬁaﬁg& [_tﬁ‘;ebx:y,jsjs,tégj__s‘ theory, diffusion theory)

8. is the most important part of public relations (press relations,

----------------- .

employee relations, investor refations)
| R allows to connect a variety of different electronic devices wirelessly

-:: (Satellites, LAN; Bluetooth ) -
\ 10. Publicrelations have émerged as a ......... communication network ( national,
| global, multinational)

¥

QIB) Match The Following (Any 7) (07)
| - [1Situational theory A culture
- {2 Written-defamation . -~ | B slander
ST o3 oken defamation - |.C talking in jargon
& [APowerful segment of society | D libel
I SGIassﬁmlsmke 3 E Web Conferencing
G 6 Traditional method F publically available
i‘; AL _'f?.-]ﬂy'ef'act'gv_ei‘s_iﬂtamet— G Stakeholders
Ty - | 8Extemalblog ~ - " H press conferences
S P Epines . il s I stockholders
. [10Finangial communication J online magazines
- QHA) Explain corporate identity. Mention its features (08)
B) Explain Copyright Act in brief (07)
= OR
- C) Enumerate on role of ethics in corporate communication (08)
D)  Discuss relevance of corporate communication 07)
,74903 3 Page 1 of 2
e A25758D617D7D65348366DAS29E67436



Paper / Subject Code: 46002 / Corporate Communication & Public Relations

Q.IIIA) Explain systems theory used in public relation with h _ - (08)
B) Define public relation. Discuss its essentials - '(07)
OR
C) Discuss the influence of social and cultural trendtm dmpany :(08_)
D) Discuss the growth of PR in India (07)
Q.IVA) What is financial advertising? State its advan’tap 3 . - (08)
B) What are the sources of employee commmnesih’ = 3 (07)
OR - e =
C) Elaborate on the guidelines for handlmg%ﬂsls g e - (08)
D) Discuss principles of good media relations- ' - (07)
Q.V A) Enumerate on the functlons of oommumcatmn technology = corporate (08)
communication
B) Explain different types of sogperate blogs 07)
C) Write Short Notes (@ny 3) RRRteL o (15)

i. Really S‘imf:le Syndicatton TR LN S
ii. PresaRelégse’ & F 000 -
iii. E—Med’ ia: rel.ﬁtions

iv. m

Vi J
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Paper / Subject Code: 46018 / Finance:Direct Taxes } T / 23 ”/

Jﬁm

¥ o

[Time: 2 % Hours] [mﬁ@:{jsy S
N.B. 1)Q.1 is compulsory. $ o S
2) Q.2 to Q.5 are compulsory with internal choice.

3) Figures to the right indicate full marks. R I S VR,

4) Workings should form part of your answer. 7 P i

5) Use of simple calculator is allowed. :' : i@ ; » : >,
Q.1 (A) Choose correct alternative and rewrite the statement (A‘ny 8) s \ ‘8

. Every assessee is a person and : . f', : CE TR

(a) Every person is also an assessee RS
(b) Every person need not be an assessee

(¢) An individual is always an assessée, - ;--S ik o 3

2 The Legal status of Ms. Hima D&Inﬂn:m sprmt nmnens e
(a) an individual  (b) a body of individuals (©)a spnﬂsman

.3 Total income of a person is de];emmcd on the basns of _' NI A
(a) Citizenship “« S - ¢ % o2 = 3

(b) Residential Status - :

(c) Both Cltlzenshlpaqd Res:dentlal Status. - :
4. Uncommuted Pension rquwed bya Governmﬂm cmployee 180

(a) Exempt > < - (b). Taxable (c) “Partly: Exempt
A Mr. Kaustubh, 8 - Cba.:wped “Accountant - lets out- hts ewnershlp office to another

Chartered Accow\tanf rent received by him i 13 -

pr
eI

(a) Income from Business.~ =~ . = i .
(b) Income from House Property -~ i
(c) lmcome ﬁ'um Other Sou.trces '
6. Do‘ﬁatmn to Chaef Mmrster s Relief Fund W = J0
(a) Aﬂo‘wed as busmes& expend' ittire :

(b}Ntﬂ; allowedas business Expendi‘tum :
) “Partty allowed as business expendimre
I J:.: ‘-‘ﬂ Eoﬁt mﬂatmn mdex is apphcable when there is
(ﬂ) Long term: capﬁal gam _{b) Business income (c) Short term capital gain
3 “.j&";l— Dwfqlend received is- exempt if it is received from
e {a) AnIndian Company “~(b).A Co-operative Bank  (c) Any Corgpany
by Giﬁ“wwlveci from brother Rs 1,00,000 is ?
. : Q&) fully taggab}e (b) fully exempt (c) Exempt up to Rs 50,000
™ ."1-0# : Mr Aml isa person with a physically disability of 50%. He is entitled to a deduction

: Tlnder sectiqn SUU of
(a} Rs ZS 0{}0 ey (b) Rs 1,25,000 (c) Nil
‘ Q.! (B) Stat&wh.ﬂther gwen statements are True or False: (Any 7) (7)
3 AnaSsoclratlon of persons consists of any person. &

2 Famdy anstomrqeelved by a widow of a deceased employee is income from other sources.
= 3 Gmtqlty racejved by Government employee on retirement is fully taxable.
it quitaf gam anses on transfer of any asset.

‘-.
‘\
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Q3  Mrs. Anjali Kapoor is a physically disabled person (60% dlsabi‘luy) She gtves youihé

6. Royalty Income received from Indian Companies

7. Rent from house in Kolkata, received in Korea. SR &,00 000 | Y

8. Amount brought to India, out of past untaxed profits eamed in Lm}dgh ol s 519 009 A
5 A T

following information for previous year 2018-19. . o A '(15)
Particulars ﬁaﬁse I - HouselIl' | -

Nature of occupancy SeHmtupied 4 LetOut. |
Fair Rent :2,00,000 | ~.:3,00,000 |
Municipal Valuation (per month) : A %2”3,9!! Fo e 2@909 ¥
Rent Received (per month) (House no 2. was vacam for 3 ~ Nl 3“5,{){)0
Municipal taxes paid on 26-07-2018 X006 15,000
Other Expenses: TRl (ol
Repairs STTA12,00001 7 15,000
Fire Insurance Premium paid 270105000 13,000
Rent collection charges FPEE = 12,000
Land Revenue payable S5 8000 7,000
Details of Borrowed Capital: £

Interest Paid during the year 580,000 90,000

Principal repaid ST 30,000 40,000
Date on which loan taken _15 102011 | 11-12-2010

Mrs. Anjali Kapooralsa récelved the fo%]awmg other i mcome

1. Dividend from Rehtmce Industries Ltd Rs 25,000, )
2 Interest onf xed deposﬁs with Bank of Baroda Rs 50, 000
: § Winning from lottery Rs. 70,000

4. Mrs. z'uyall paid Medical Insurance Premlum of Rs. 15,000 for self by cheque.
Cemplme her Net: taxable Incomc f'or the Assessment Year 2019-20.

OR

QJ lﬁ'»—Ramesh Mc.hta acqmred a residential property for Rs. 2, 50,000 on 1% October 1994,

Aﬂd:ﬁﬂ'nal mfomatlcm pcrtamlng to property was as follows.

_‘ a) “Fair market value as of 1-4-2001 was Rs. 12, 50,000
%) Co’st of unprovcment are as follows:
B Financlai year $ Rs.
R A A8, 1997-98 80,000
RS S e 1,50,000
e R T T B P 4,00,000
e 201617 . 5,50,000
~~ ©)  He'sold residential property on 15-2-19 for Rs 2,00,00,000
<33 d) '_,He. acquired new residential house for Rs. 65,00,000 on 20-03-2019.
- ®  Healsopurchased NHAI bonds of Rs 10,00,000 on 27-03-2019.
= ‘_ g di ; Expenses on transfer amounted to Rs 1,00,000.
; m g:“- Page 3 of 5
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Paper / Subject Code: 46018 / Finance:Direct Taxes <~~~ .~ = = . =
Relevant Cost Inflation Indices are as follows: R D PR el L L
Financial Year | Cost Inflation Index AR iy it el 5
2001 - 02 100 S T T SRS s
2009 - 10 148 SEoE
2014 - 15 240 - =~
2016 —17 264 :
2018- 19 280 A
Compute the capital gains for Assessment year 2019~29 3 Sox
Q.4 Following is Profit & Loss Account of Mr. Anil Dhannaﬁhfkaﬁforthe yearsnebd 31‘ o>
March, 2019. fadasarofl f 2 _ a\a\
Particulars R P‘arﬁcuhrs SOU s SIS
To Staff Salaries 2,50}000'_, "By Gross Profit_~ —_ 1 §A39.000
To Salary to Anil Dharmadhikari 30@00 Bywmnmgjmm Horsemmg $1.000
To Printing & Stationery 50,000 | By Dividend from Indian Co. .  20.000
To Travelling expenses T ,mm- ST A D S ey
To Rent SP LT AR S N R e
To Depreciation ST AR £
To GST paid L ;- L 30,000 |
To Advertisement S S T A SRR o I 7 B
To Embezzlement by QmPloyw ) IS RIS T,
To Drawings : . + 56,0001 o o AN |
To Staff welfare expen&cs ',‘-’,"‘-’ o oL TR
To Income Tax o5 <" v & o 5 ¥ AZO0T DL A i
To Net Proﬁt -»C'.*-‘ AR R Y7 T AR
R ls,mmf ST | 15.30.000

Additional klfmtion é
1) Depreciation aIlowabIe asper Incomc Tae& R:ules Rs 70 000
2) Staff welfare expenses” “include Rs- 49 900 mcurrcd for iedical treatment of his physically
handicapped bmthf.r» (99% dlsahnfﬂ.y) T
3) Halfof l;hp Rent i is ﬁ)l‘her Lestdentaal ﬂat and 1’/3!"‘L of thz Travelhng expenses is personal in nature.
4) Adgemseifr@m expensemﬂnﬁ Rs ZQGOO spent on advertisement in a magazine published by a
polrtlcalpany Yoﬁ ate neqmredtg epmpute hcr Taxable income for the assessment year 2019-20.

& TR OR
Q. 4 l’a) MP’S,\RRM Rane ',Stlbmlt the foﬂowmg particulars of her income for the assessment year
: 2019 20 B G T A 5 (8)
Potede hltercstoniﬁank deposﬂs ® 5.000
- { Interest on Government- secuﬁtics : 7,000 |
o[ Interest on Public medent Fund 6.600
" {Interest acerued on NSC _ ;- 7.500
- A Dlwdend from Tata Co, - 9.700
o ) Income ﬁmhAgneulture in Konkan 22,000
S F&n;nly Pepsien -~ oot 42,000 |
‘;." '\Comﬁume heﬂax&ble lm:omc under the head Income from other sources. :
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years.

Prior to 1-4-2013 he did not visit India. Find out ﬂmi’csrd
assessment year 2019-20.

Q.5 (a) Explain Deduction w/s 80D. -
(b) Discuss any Seven items specif

Q.5 Write short notes on (any thm

)
2)
3)
4)
5)

ring the last6 ~ .
Previous Year Days
7YY N T
T 50 3
2016-17 . Lo 20| v
201516 - 82 125 [ oo
2014-15 55 - GRoT B S
2013-14 T % TN S

ennalstauzsofnr Leonara i&ﬁm . Sy

»

»_{

Any Five items exeﬂgﬁir?s:l@_

Long term Capital Gain.* <3 "",—, ; ,‘

DeductlonUfs*SﬂQ ¢ 5 R ey
Income froafw mbcg]bel Gm”f’vrbpeﬂy o T o

Deduct:o&'f_pbm Income e&-om Sajary
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